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Figura 1: Problema 1

F1 = 100i− 120j + 75k

F2 = −200i + 250j + 100k

RA = 4i + 5j + 3k

RB = 4i + 5j + 3k

F1 X RB

i j k

4 5 3

100 − 120 75

i (5 (75) − (−120) (3)) −
j ((4) (75) − (100) (3)) +

k ((4) (−120) − (100) (5))

i (375 + 360)−j (300 − 300)+k (−480 − 500)

= 735i− 980k

F2 X RA

i j k

4 5 3

−200 250 100

i ((5) (100) − (250) (3))−j ((4) (100) − (−200) (3))+

k ((4) (250) − (−200) (5))

i (500 − 750)−j (400 + 600)+k (1000 + 1000)

= −250i− 1000j + 2000k

SUMA TOTAL (FT)

FT = 735i− 980k − 250i− 1000j + 2000k

FT = 485i− 1000j + 1020k
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Figura 2: Problema 2

ry = 0

ry = 3u sin 60°(6)

Fx = (-3/5)(9)

Mo = (rx fy - ry Fx)

Mo = 0(30 sin 60°(6)) - 0(-3/5)(9)

Mo = 155.88 A + FA S.A

FA = 155.88 A/S.A

FA = 28.86 Ab

2


